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1 R volumo of gad A i< 9wen and thy volumt of gar & M fought.

a.- The volymes oF both goues are medgured nder the (amt  onditond - of  dmperarure and priddure

b- The volumed 0f the two gaded at meatvied undey Aiffevent anditions. Ut Gay -lusiag’ { law
of wmbining Vol to fmad the vovmy 0 gad B omdvr the wndition given for Gal B . Vet
correchion  fatkoyt k6 vrgk Hhis vowm of qa 8 o taat 1 wnformd o thy final condihopy given
in tht problem- . -

2. B mase 0F Subtanoy A B gvin and ﬂu yolume, nf' #ﬂi 8 11 yought-

a. fnd tht humber of moles of A

b Uit Hm numbey of modd of A o ﬁna +m nmnhg; 0 mokd of B. Tho mole mahnmmp of 3 jo B
it givn by the onemical eqpation-

o- find tht volme oF gai & by Wbitityhing i R_V= nl—h n i thy nomber o mol foumd in mpa,
pandT A the (onditiene under. wmga the gmm 9% & it mtalud. 7

B vome of §a¢ B K given and the makl of wmr 6 [ (ovgh%

0. Detorminy the Mumbocr € moM( of B py g PVE A

b (e thid number of moky of B fo fndl Fht nmbérof g@m oé 3 e mole nlahonth of 810 A i gien by
e  Chemital equation:

¢ Fmg tht mas 0f B from the numbor 6 mm os [, dgtermined iy (tep 8. Ont moe of B i the
MO ANAY Wi ght of B m (romd.

0-400 g sompi¢ of odun aide , NaNg M mnu omal dmmpou,;

INANg —> 2Ng t 3N what volyme, 0f le mmmd @ 2t°0 and 0-9%0 atm ‘W obramntd 7
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6§ gImol [= 0-0008 mgl qu*_]

(T2: Fing tho mole number of B, wing Mo telation dhip

STEP 3: Uit PN:= nRT {9 find  volumu

MR: 2 mol NaNs == 3 mol N>

Ny, : 0-00¢ mM/NaNa ¥ 3mo) Ny E o.éoo'ﬂzs mo) N
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